DTCO1

SWL: 350 KG
UNLADEN WEIGHT 28KG
MAX DRUM DIAMETER: 600 mm
MIN DRUM DIAMETER: 350 mm
MAX DRUM HEIGHT: 1000 mm SWL - 350kg |F
MIN DRUM HEIGHT: 500 mm
MAX LIFT : 70 mm
E
] |
[ —) D
L =
= IER| i
1 | 1 o~
] B 8
N B S
C
H @250
R |
Al
. ]
— — B
797 494 =
g B SHEET NO: DRAWN BY:
PRl s CATEGORY:  ASSEMBLY 10F3 Al
0. AT Qe "
£120mm 005 2050°  SIES 1000MM MATERIAL SPEC: EST MASS: CHECKED BY:
meomcis | DONOTSCALE [ 80 2%mm coar sz Hiesioow 27.74kg S A
STANDARD SURFAGE FINISH B £3MM (9A 250MIN) o FINISH: SHEET SIZE: DATE
SBREAK ALL SHARP CORNERS AND EDGES, R 0.3mm MAX : N/A . A3 CHK 2 ] /08/201 9
MATERIALS |:onsmmanssnsononnee - [DESCRPTON:  yNIVERSAL DRUM TROLLEY, 350KG SWL, DTCO1 PART NUMBER: REVISION:
Handlingmrrmicz I 012590 B
1 | | 3 ! 4 5 T % T PV T ——) SRTED O 127207



3 | 4 5 | | 8
1251
958
I
| A
o
©
~
=~
X
:
U
pH Ha
U
1 o
STANDARD 205L DRUM SHOWN
: : SHEET NO: DRAWN BY:
AL DO | o on o CATEGORY: ASSEMBLY 20F3 Al
INmmU.O5 w00 D50 s < 1000 EST MASS CHECKED BY
S20mm 2005 0507 SZE < 1000MM MATERIAL SPEC: : :
s [DONOTSCAE | £ Hmm BE 8% Gl 27.74k9 »
STANDARD SURPAGE FINISH R 4a0M [FA S5OV o FINISH: SHEET SIZE: DATE
SBRAEAK ALL SHARP CORNERS AND EDGES, R 0.3mm MAX : N/A . A3 CHK: 2 ] /08/201 9
PART NUMBER: REVISION:

MATERIALS
Handlingmrermicz

DESIGN AND THAT IDENTICAL ARTCLES
SALE Y THE MANUPACTURER OF ANY OTHE

DESCRIPTION: UNIVERSAL DRUM TROLLEY, 350KG SWL, DTCO1

012590

3 |

mmmlwmmcwmmwv8

PRINTED ON: 18/12/2019



1 1 2 1 3 1 4 5 1 6 1 1 8
ITEM STS PART DESCRIPTION Qry
1 003040 BACK FRAME F/DTCO1, WELDMENT, STAINLESS STEEL 1
2 003052 HANDLE FRAME F/ DTCO1, WELDMENT, AlSI 304 1 DTC 0 1
3 003038 FOOTBAR, F/ DTCOI, STAINLESS STEEL 1
4 003035 DRUM CATCH ASSEMBLY, STAINLESS STEEL 1
5 013480 CHAIN WITH DEE SHACKLE - 4MM - 36 LINKS 1 F
) 001286 BLUE GRIP HANDLE, REF. RUNFOLD PLASTICS, CPG10/4.375 2 SWL - 350 kg
7 002784 @1 1/4INCH PLASTIC END PLUG 2
8 002225 WHEEL - @250 - TW50 - HW60 - @20 - RUBBER/PU - 500KG, 2
9 003069 WHEEL BUSH, 20MM OD, 12.2MM ID, 22MM LONG, BLACK PLASTIC 4
10 | 001072102 | HEXBOLT, M16 X 55, A2 2
1 001423012 | NYLOC NUT, M12, A2 2 —
12 001423016 | NYLOC NUT, M16, A2 2
13 003067 AXEL BOLT - M12 X 92MM 2
14 | 001117-033 | WASHER, F/ M16, A2 4
E
2 PLACES
D
C
B
2 PLACES
B 18/12/2019 Js
- B - CHANGED ASSEMBLY - -
ZONE| REV. ECN DESCRIPTION DATE APPROVED
REVISIONS
. : SHEET NO: DRAWN BY:
AL DO | o on o CATEGORY: ASSEMBLY 30F3 Al
INmmU.O5 omm o0 D50 s 1000 EST MASS CHECKED BY
H120mm 0057 20507 SIE < 1000MM MATERIAL SPEC: : :
meomcie | DONOTSCALE | 80 ZEmm o 22 s 27.74kg 5 A
STANDARD SURPAGE FINISH R 4a0M A S5OV o FINISH: SHEET SIZE: DATE
BREAR ALL SHARP CORNERS AND EDGES % DA MAX : N/A | A3 CHK: 21/08/2019
: PART NUMBER: REVISION:
MATERIALS DESCRIPTION:  |)NIVERSAL DRUM TROLLEY, 350KG SWL, DTCO1
Handlingmrrrizz - 012590 B
1 I 2 I 3 I 4 5 I 3 I revsion:o1 [author o auworser: v & PRINTED ON: 18/12/2019



